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Q1. a) Mention the new value of SP and location of higher and lower byte of BX register on stack after
PUSH BX instruction is executed. Assume SS=0800, SP=0300, BX=5739H before execution of PUSH
BX. : [2]1CO-1][CO-2]

b) What is difference between JUMP and CALL instruction? Compare the word in AX with the word in BX.
Jump to label BIG if contents of AX are greater than or equal to the contents of BX and to label SMALL
if contents of AX are smaller than BX. Write appropriate comments for your ﬁrogi‘am. [1+2]]CO-2]

Q2. a) Develop a sequence of instructions that sets (1) the rlghtmost 3 blts of CX; clears (0) the leftmost 4

bits of CX; and inverts bits 7, 8, and 9 of CX, [2][CO-2]

b) Suppose that initially BH = 10011011, CF=1, CL~4 for each of the followmg instructions. Mention the
content of BH after execution of each instruction:

(i) SHL BH,CL (ii) SHR BH,CL (iii) SAR BH,CL (w) ROL BH CL (v) ROR BH,CL (vi) RCL. BH,CL

[3]CO-2]

Q3. a) Develop a short sequence of instructions that s'téres éOH into 1000H bytes of memory, beginning at
extra segment memory location DATAZ usmg L()OP instruction. Write appropriate comments for your

program, [3][CO-2]
b) Take a word placed in BP and perform only loglcal operatlons on that word so that it equals FOFOH, no
matter what the starting value in BP was o [211CO-2]

Q4. a) Compare the byte in BL agamst the by’[es in memory from DS:2200H to DS:2233H using 8086
instruction sefs. Place the count of number of matches found in register CL. Write appropriate comments

for your program. : [3][CO-2]
b) What is Interrupt vector table and difference between hardware and software interrupts? The interrupt
vector for an INT 99H mstructlon is stored at which memory locations? [31[CO-3][CO-4]

Q5 a) Mention the dlfferent sngnals found in the microprocessor-based system for an OUT 45H, AX
instruction. - [1]{CO-3]

b) What is near and far CALL instruction and how CALL instruction is related to procedure? Write a near
procedure that cubes the contents of the BL register. This procedure may not affect any register except
BL.. = v [1+2][CO-2]



